
T Mica(CHA1) M(HP) Gt(HP) Omph(HP) Omph(HP) law coe ru 

Mica(CHA1) M(HP) Gt(HP) Omph(HP) Omph(HP) law coe ru 

Mica(CHA1) M(HP) Gt(HP) Omph(HP) Omph(HP) law stv ru 

F Mica(CHA1) M(HP) Gt(HP) Omph(HP) Omph(HP) law stv ru 

F Mica(CHA1) M(HP) Gt(HP) Omph(HP) Omph(HP) law coe ru 

F Mica(CHA1) M(HP) Gt(HP) Omph(HP) law coe ru 

F Mica(CHA1) Do(HP) M(HP) Gt(HP) Omph(HP) law coe ru 

F Mica(CHA1) M(HP) Gt(HP) Omph(HP) law stv ru 

F Mica(CHA1) Do(HP) M(HP) Gt(HP) Omph(HP) coe ru 

F Mica(CHA1) Do(HP) Gt(HP) Omph(HP) coe ru 

F Mica(CHA1) M(HP) Gt(HP) Omph(HP) coe ru 

F Mica(CHA1) M(HP) Gt(HP) Omph(HP) stv ru 

F Mica(CHA1) Gt(HP) Omph(HP) coe ru 

F Mica(CHA1) M(HP) Gt(HP) Omph(HP) coe ru arag 

F Mica(CHA1) Gt(HP) Omph(HP) q ru F San Mica(CHA1) Gt(HP) Omph(HP) q ru F San Gt(HP) Omph(HP) q ru 

F San Mica(CHA1) Gt(HP) Omph(HP) coe ru F San Gt(HP) Omph(HP) coe ru 

F Mica(CHA1) Gt(HP) Omph(HP) coe ru kcym

F Gt(HP) Omph(HP) coe ru kcym 

F Mica(CHA1) Do(HP) Gt(HP) Omph(HP) coe ru kcym 
F Do(HP) Gt(HP) Omph(HP) coe ru kcym 

F San Gt(HP) Omph(HP) coe ru kcym 

F T Mica(CHA1) M(HP) Gt(HP) Omph(HP) Omph(HP) law coe ru 

F San Mica(CHA1) Gt(HP) Omph(HP) coe ru kcym 

F Mica(CHA1) Do(HP) M(HP) Gt(HP) Omph(HP) coe ru arag 
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staudigel closed system model 
                                                                                                                                                                  


